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SCIENCE (Theory) 

~~ IPI (~;;alf.Bf.h) 
Time allowed: .?Yl hours 1 
R-~ t11FI : 2 Y2 eruZ 1 

[Maximum marks : 60 

[ 31T~.Jicf;; 60 

Generallllstructions : 
(lJ The question paper comprises of two sections, A and B. You are to 

attempt both the sections. 
(iz) All questions are compulsory. 

(iii) There is no overall choice. However. internal choice has been provided in 
all the three questions of five marks category. Only one option in such 
questions is to he attempted. 
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:·. 1 .-L'l quesrions of Section A and all questions ofSectio11 Bare to he attempted 
separately. 

h-J Questions number 1 to 6 in Section A and 17 to 19 in Section B are short 
answer type questions. These questions carry one mark each. 

(vl) Questions number 7 to 10 in Section A and 20 to 24 in Section Bare short 
answer type questions and cany two marks each. 

(vil) Questions number 11 to 14 in Section A and 25 and 26 in Section Bare also 
short answer type questions and carry three marks each. 

(viii) Questions number 15 and 16 in Section A and question number 27 in Section 
Bare long answer type questions and carry five marks each. 

tfl¥41"'4~: 

(i) fH VR rr.r <it ~ 'JffTff, ~ 31 37k 3WT ~, -# W Tf7.1r ~I ~ <:};if 'iWif 
cfl JTHt cfl 3fR ifmFt t I 

(ii) ~ w.; 31R<=n4 -§I 

(iii) v!: w.; rr;r 'R cnT-1 ~ Jffil ;rtf~ w;g TfR-~:Wit ct ({R ri-# w.; ~ 
~ W:lr Tf7.1r ~I F ri -# J1TT1 ~ "%1 '4toft Tfct1 ~ CflT 3TR fFmA ~ 
~¥~-§! 

(iv) ~ '1TTT 31 37k '1TTT ~ cil ~ ri cil 3TR rplCf!- rplCf! 'lfTTT 317'"-lP: fR fFmA 
ffll 

(v) 'WT31cfl~~ 1 if 6 37k'JfTTT ~~w.;~ 17 i119 ~"%~ ~"3ffif 

qrff lfcn -lfcn 3icfi cfl t I 
(vi) 'JfTTT 31 ~ "%1 ~ 7 it 1 0 .3/tt 'JfTTT ~ cfi" "%1 'ffiffl 2 0 if 2 4 ~ ~ it­

it 3icif ~ fJTZ ~ ~ "§I 

(vii) '1TTT 31 ~ Wof ~ 11 it 14 .3/tt 'JfTTT ~ cil "%1 ~ 25 .3/tt 26 ~ Wof rtR­
rtr.r Jiq,1 ~ -em~ ~ t, 

(viil) 'JfTTT 31 cfl Wof ~ 15 37k 16 ~ 'WT ~ CfiT Wof ~ 27 CfiT Wof ~­

Tffq Jiq,1 ct 37k ~ ~ ~ ~~ 

SECTION A 

'f(llal 

1. Balance the following chemical equation : 

31/1/1 

Pb(N03h(s) heat Pb0(s)+N02(g)+02 (g) 

f.'l1001R1tliad uE!i~RCfl {1Jf\Cfi{Oj em «tlR=td ~ -q f&irG~ = 

PbO(s )+N02 (g)+02 (g) 
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2. Fresh milk has a pH of 6. When it changes into curd (yogurt) will its pH Yalue 

increase or decrease ? Why ? 

3. 

4. 

~ ~ CflT pH l1R 6 mor ~ t ~ ~ <iR ~ 1R ~ pH lff.f ~ m 
~?~? 

Name a reducing agent that may be used to obtain manganese from manganese 

dioxide. 

~ ~3iT$8t~:s it ~Jtofl'iSI >mr ~ $ fuu; M" ~ 3iq"CCt4<:fl CfiT ~ fulf{g~ t 

Why does a ray of light bend when it travels from one medium into another ? 

~ ~-~ ~ q RG~ ff l1[Ufq it~ ql(q~if ~ "ij ~ Gfiti\' ~ 3llFfT ~ 

~ ~-ffift ~? 

5. Draw the given diagram in your aiiswer book and complete it for the path of ray of 

6. 

light beyond the lens. 

(~ ) 

I \;1 I I 
F F 2F 

f.h~fe1fule1 3ifn:9 ~ m;fi ~ 9.>~if.i if crtG ~ ~ $ w ~ ~ ctT ~ 
~I 

2F F 

Why does sky look blue on a clear day ? 

~tffi:p~-ij ~ ;ftffi ~ ~~~? 

I 
F 

I 

2F 

7. A compound which is prepared from gypsum has the property of hardening when 

mixed with a proper quantity of water. Identify the compound. Write the chemical 

equation for its preparation. For what purpose is it used in hospitals? 

~ ~ ~whl -Rmur ~it m-a-r~, '3ftm ~ "ij \iK'f f4aB 1R ~ ~ "CflOR 
if ~ t t ~ ~ ~ it ~ t ? ~ "Rmuf ~ CfiT <1~14R<:fl elf}Cfl(Ot 

~I ~f14dt@ "ij~~~~~~~~t? 

B. (a) What is the colour of ferrous sulphate crystals? How does this colour change 

after heating ? 

311111 3 
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(b) Name the products formed on strongly heating fen·ous sulphate crystals . 

What type of chemical reaction occurs in this change ? 

(qj) ~ ~ ~ fSbRcll CfiT ~ ~ mcrr t ? Tf4 ~ ~ ~ irT ll fcR:r m CfiT 

qftaJ'i m ~ t ? 

(l9) ~ ~ ~ R6Rcll CfiT ~ Tf1f ~ ~ ~ >rffi ~ ~ ;rm R1fG~ I ~ 

qf\qJ'l ~~mcfit ~~t? 

9. What is the minimum number of rays required for locating the image formed by a 

concave mirror for an object. Draw a ray diagram to show the fmmation of a virtual 

image by a concave minor. 

~ ~ GtluT '[JU ~ ~ SIRtRikf ~ CfiT ~ -RmftJ ~ ~ ~ rl("id~ 
~ ~ ~ 30il<:!:{<lCfl(11 mctT t ? ~ ~ GtiuT ~ ~ .stfdM14 'f>l ~ 

~~ ~ eft:qq:;( Rllll~t!>l 

10. A piece of wire of resistance 20 Q is drawn out so that its length is increased to 

2 

twice its original length. Calculate the resistance of the wire in the new situation. 2 

20 Q ~~~OR CfiT cll~<:h( ~ ~ ~ Cfi\ ~ "f1i I~~ ll ~ 
OR~ ~ 'f>l 4Rcti~>i ~I 

11. What is meant by 'rusting' ? With labelled diagrams describe an activity to find out 

, the conditions under which iron rusts. 

'\i{7TWRT' fcro~~? "il~ii&lo F.cit~ B~l<l<ll "B"~-cn:~~cfit~ 

CfiT qm wtR ~ ~ ~ M-~ CfiT qaf.l ~I 

3 

12. Give reasons for the following observations : 3 

(a) The element carbon forms a very large number of compounds . 

(b) Air holes of a gas burner have to be adjusted when the heated vessels get 

blackened by the flame. 

(c) Use of synthetic detergents causes pollution of water. 

f.:lqf8f@a "Y'tT~ ~ an~~~ : 

(qj) ~ B ~ ~iMChl ~ ~ ~ 31fi1q; t I 
(~) ~ ~ ~ "@"R1 ~~~~~~eft Trn' ~ ~ ~ fusn it 

B'""ll~1<iH ~ ~ t ? 

(TT) ~~zZl~a 3i4'""11'*nl ~ ~ "B" ~ ~ -m ~ t I 
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13. What is h;..-permetropia? State the two causes of hypermetropia. With the help of 

ray .:i:::.~rJ:ns. show : 

t! 1 me eye-defect hypermetropia (ii) correction of hypermetropia by using a lens 

iP-i -~ ~ <Fn -mor t ? ~-we- G'rl ~ QH ~ m CfiT{UT R-lful~ 1 ~ -am:m 
m~: 

(i) ~-we- G'rl ~ ~ (ii) ~ ~ >ri'rT SRT ~-we- G'rl Cf1T ~ 

14. Two resistors, with resistances 5 .Q. and 10 .Q. respectively are to be connected to a 

battery of emf 6 V so as to obtain : 

(i) minimum current flowing (ii) maximum current flowing 

(a) How will you connect the resistances in each case? 

(b) Calculate the strength of the total current in the circuit in the two cases. 3 

15. 

311111 

5 .Q 3:fR 10 .Q. >rfOOq ~G)~~~ 6 v ~ ~ ~: 
(i) ~ 'qffi d~ (ii) ~ 'I:1TD 

>rrn~~~~~~l 

(q;) ~ ~ ~ ~ 31fCJ moo~~~~~? 

('&) ~ ~m3ifit"¥J~~~Chl qf{cfl~H ~I 

(a) Which two criteria did Mendeleev use to classify the elements in his periodic 

table? 

(b) State Mcndeleev's periodic law. 

(c) Why could no fixed position be given to hydrogen in Mendeleev's periodic 

table ? 

(d) How and why does the atomic size vary as you go: 

(i) from left to right along a period? 

(ii) down a group? 

OR 

(a) Why did Mendeleev have gaps in his periodic table ? 

(b) State any three limitations ofMendeleev's classification. 

(c) I low docs electronic configurations of atoms change in a period with increase 

in atomic number? 

("fi) i}~ctlg; (it .. ~ffiq) ~ ~ ~ BR'1ft ~ ~ ~ qlffCfl(OI ~ ~ fcn.T Gl 
414Goii~~? 

(G) q .. gt1jg; (il;;g~')q) ~ 3Wffl ~ Cf1T ~ ~~ 
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(7T) ~~ctlgo; (~;;gcllq) ~ 3ncffimDJft ~ l'!l~1t"'f~ Cf)) ~ ~~~ ~~ ~ 

\liT~? 

(t1) wnuJ 3lTCfiR ~ fcR:r m afu: ~ qf<qJ"" ~ i, ~ : 
( i) fcRft 3W«t -q "fr.ft B c:r.ff 3W ~ i ? 

(ii)f.Rfi~~~B~~t? 

31~ 

Q 
(Cfi) ~;;gct)go; (~~t11Cl) ~ 3W«t mDJft ~ ~ h ~~it ? 
('&) ~ ;;gcttgo; < ~ ;;gcll q > ~ q. fk~o, c€t m cfR ~ R=tfu4 q: 1 

(7T) fcRft :mcffl ~ ~ ~ ~ "lR ~m ~ ~~~TRCfi ~~Itt -ij fcR:r m 
qf(qdofNm t? 

16. (a) What is a magnetic field ? How can the direction of magnetic field lines at a 

placed be determined? 

(b) State the rule for the direction of the magnetic field produced around a current 
10, carrying conductor. Draw a sketch of the pattern of field lines due to a current 

flowing through a straight conductor. 

OR 

(a) What is a solenoid? Draw a sketch of the pattern of field lines of the magnetic 

field through and around a current carrying solenoid. 
11. (b) Consider a circular loop of wire lying in the plane of the table. Let the current 

pass through the loop clockwise. Apply the right hand rule to find out the 

direction of the magnetic field inside and outside the loop. 

(Cfi) ~ki:fchl~ ~ ~n?Rn ~ ? fcRft ~?lR "~R 1~cA~ ~ ttiD3TI ctt ~ CiiT 8~ 
. ., fcR:r m ~ \liT WfiCIT i ? 

(~) fcR:ft~ ~I(ICllc;l ~(fR~-:qr{f 3fu:~ 'W"~Sfch)~ ~ctr ~CiiT1Ril 

WTRcrr-0 ~Cf)f d~@ ~I fcf;m~ ~l{l"'t?i ml)~CfR ~~ 
~ ~ ~'""""chl~ ~ ttiDm Cf)) Pl~f4o Cfi«<T ~ 31ft& ~ 1 

31~ 

(Cfi) qf("'llklCfll (mft-HI4'5) 'Cf<IT ~ i ? fcRft ~ ~I(ICllc;l qf{"'IIR1Cfit ~ ~ 

~ ~ triU 3iR '41S!ch)~ ~ ctt ~~an Cf)f ~ ·hg1~~ ~ 1 

('&) ~ ~ ~ ~ OR ~ ~'dl<hf( 11m CiiT f<f;:m: ~I 11R ~ ~ ~ ~ 

Gf~ (4~Clm) ~ Slc:tlf%d muft~l Gf~-~ ~~Cf))~ 

~~~~am~ ~ki:fch)~ ~ ctt ~ ~ ~~ 
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SECTION B 

'qTtl "ijf 

17. Wbat are the two main components of our environment? 

~ q=LJICl\01 ih it ~ ~ q;m ~ ? 

18. 

19. 

20. 

21. 

22. 

23. 

\\bat will happen to a plant if its xylem is removed? 

-m fctim ~ CfiT \311 $('1q ~ -Rm ~ -m ~ CfiT q;m --?rn ? 

Name two tissues that provide control and coordination in multicellular animals. 

<i(§<il~lcfl'l""l ~ -q ~ (fm (iJOI'""Cf""l m-~men~ ih ::rTif RireQOt 

What are natural resources ? State two factors that work against an equitable 

distribution of these resources . 

What is water harvesting? Mention any two water harvesting structures . 

What are 'nastic' and 'curvature' movements? Give one example of each. 

'34~'i::H' ~ ·~· ~ q;m mcfT ~ 7 ~ m CfiT ~-~ J<:!:lti\01 f81fulQOt 

What is biogas? Why is biogas considered an ideal fuel for domestic use? 

24. (a) Distinguish between renewable and non-renewable sources of energy. 

(b) Choose the renewable sources of energy from the following list: 

Coal, biogas, sun, natmal gas 

(q;) ~ ih rjq"ICfl\On~ (fm 3H<flCfl(00""l m"ffi -q ~ ~ f81fulQOI 
("&) PtkiR1R9cti -q ~ ih rjq"ICfl<On~ -mm cit q5:q1f.:tQO : 

<:41) ~ 1:.'11, ~ iffi, ~, Sllcti fd Cfl iffi 

25. Explain analogous organs and homologous organs . Identify the analogous and 

homologous organs amongst the following : 

Wings of an insect, wings of a bat, forelimbs of frog, forelimbs of a human. 

31/ I /1 7 
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<eA'511C1 (t:m ~ 3W eta~~ 1 Rt:ifelf@a1-q ~ <eA'511C1 w.n ~ ~ cfiT 

~~: 

M"cf;'tc~~, ~lO!llli::'$~~, m~ ~, m;rcr~ ~~ 

26. (a) Explain the tenns : 

(i) implantation (ii) placenta 

(b) What is the average duration ofhuman pregnancy? 

(q;-) f?lqfuifuiel ~eta W"l$11$~ : 

(i) "(rqur (ii) ~ 

(lSI) l{R"q m~cfil ~ 31clfil ~ ~ t ? 

17. (a) Draw a diagram of human alimentmy canal and label on it : 

Oesophagus, Gallbladder, Liver and Pancreas. 

(b) Explain the statement, 'Bile does not contain any enzyme but it is 

essential for digestion.' 

OR 
(a) Draw a diagram of excretory system in human beings a~d label on it : 

Aorta, vena cava, urinary bladder, urethra. 

3 

5 

(b) List two vital functions of the kidney. 5 

(q;-) m;rcr~-~Cfil ~ ~ efiM~I "3BW R'""'IR1R9C1 cf,'r "'l1Ytfcf1<1 ~: 

~' rtl*11~14, ~~I 

<~> ~~~ ~~: ''m -ij ·~ Qf;l\1~"' -;nffmcn ~ ~ ~-fsfim 
~ ~ 3'11<=1~4Cfl t I" 

.Jt~ 

(Cfi) l{R"q 3ffi:si=1 CP.f ~~ ~ efiM~I "3BW R"""iR-!Rsrd ciT •W'!iiCt1d ~: 
~' "'~l~RI, ~1~14, ~ 

<~) ~~~~m k'tfu!~' 
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